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In common emitter circuit, the value voltage gainis -

(©

maxamum .

(B) minimum

same as in other configuration D) zero

Quirgs 2 SpriLne syHD Warenpssl AuEBEssHan wHIY

A
©)

Which one of the following event is not relafed'with Indira Gandhi?

&)

(©)

(D) - Indo-Pakistan War, 1971

- SpauBeuaTeudmIET TS G @é@m @sdor srpHCuTE Qam_ndensg?

2iFsD

wHp WerahpeoliLgar Gumea

B) Gopey
D) yguw

Indo-Soviet Treaty of Peace and Friendship
W Bhopal Poisonous Gas Leak Tragedy

'Operation Blue Star

(A - @pdw-Cerellwug Siamind), B LDeSETET £ L TUY s

- ®
©)

D) @bdu-urdevgrer Gum, 1971

Gunume eflageury sfleyd Fwrbd

B pLESHT BLugbas

Which one of the following is incorrectly matched?

(A)

Teﬂon

Plexi glass

—

Tetrafluoro ethylene

methyl methacrylate
Glycerol, phthalic anhydride
Styrene, 1,3-butadiene

 Qevaupauaraupdler argy sfwing QurEppgeiidme?

@)
®
(©
o)

QL tieomest
LiQemsend] &lemmen
DTG TEHT
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QAL gr GamGyr ergaSer
Gogdd GussrarGol
SHafagme, gredls Hiled
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4. vitamin is derived only from animal food.

MBlz. '_ S (_B)‘__Bl ' _ L

© B . O B

- eneul L iflé Siamsas 2 anrells Qb AL 58 sniquig.
A) - Biz . i B) B

6. The chemical identified to trap malana mosquitoes is
(A)  Redeol | | '  (B) Decrol
W Cedol " (D) Ecdrol

ereip  Gaudl  Qumaper wCafiwr erraémm_ Sauqptd gétmlmu,]wgugrrs'

acirL_ P Gerergy '
@ Griare ) ® Guime
© Q&Lqrre’u _I o D)  erélymed. |
6. Goitere is developed as a result of lack of — . - | in the thyroid gland. 4'
M Iodine . _ | (B) Calcium
(©)  Potassium . (@ Sodium® -

@ETHI® ST THUGD B Gerpaurnd o ¢ S smiC it sﬁhurr,ﬂ qﬁ;u@ﬂeinw ‘

(B) - Cumger | B) srofub

© Qumirfus - O Gamgwib
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The outlines of second five year plan was made by _
(A} B.N. Gadgil (B) V.KR.V.Rao
yf P.C. Mahalanobis (DY C.N.Vakil

QrerLmb gibsTRT(HE S gded 5ml;|ﬁ1|grei;a;uﬁx;|_ W& apenm wimgired a@mrré;a;ml.]LLL_g]?
(A) B.N. sr’dlaé : (B) VKRV gréu
(C) P.C. wsprGpmien (D) C.N. awsded

On wh.lch date the obJectlves Resolutions was adopted by the Constituent Assembly?
M January 220 1947 : | (B) November 26 1949
(C) January 26t 1950 ‘ (D) January 220 1950

@bdw sipfweanrsiy ,lﬁlsrswru FenLl ammnaﬂw @hECararsdt SLEAw Erorersms THmS
Qarear_g?

(A)  gareufl 22, 1947 (B peubui 26,1949
(©)  merauf 26, 1950 (D) gemaufl 22, 1950

- Assertion (A) : TUnder the constitution, the Chief Minister holds office till the pleasure
' of the Governor. .

Reason (R) :  The Chief Minster is appointed. by the Governor.
\M Both (A) and (R) are true and (R) is the correct explanatlon of (A).
B) Both (A) and (R) are true but (R) is not a correct explanation of (A).
© (A) is true but (R) is false.
(D) (A)is false but (R) is true.

N (A) T erfluaemoliyé sl FHang. (peoenssi .ﬁ,@prﬂaﬂ SllEpLILID 2 eTemauanT Lm_@(SLo
gengl ngeflenw cudsBmmi.

amyennd (R) :  pae@wsst u@sprmd ullésin@Gapn.

A A opgw (R) @rar@Gu sl Guogid (R) eréuig) (A) afp@ sfwmar elarsasomngb.
B) (A wipd R) QrarBGo &fl gpemme (R) erémugi (A) alig sfllwrer efiendaode.
(C) (A) & Q,aﬂrré) ®) geumy. '

@ (A pouy yemed R) o)
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10.  The budget is presented in the House qf the people
' (A) by the President =~ " (B) by the Prime Minister
W by the Finance Minister E (D) Dby the Finance Secretary

&sarenculdlenr suyey Qeoay @L’..l.§@§ O R
@) Gaursspoami B) Grpw wiH
©) Pdwuewvssi (D) fdsQswer

11.  Which of the follovyfing states was the first to intfoc‘luce‘ the Panchayat Raj Systen;?
(A) Tamilnadu - (B) West Bengal :
@ Rajasthan (D Uttar Pradesh.

LEHETLISS TR SDIPLOLIILI WS (PEOTE aq;ﬂ!@’:a;lb (AT wmflen
@ pdpp® . (B) GupE ariisrard
(©)  yrgevgrer sy D) e38lr) QrGssd

12.  Which part of the Indian Constitution deals with the Union Territory?
@) Part-VI - . (® Part-VII
W& Part- VIl (D) Part-IX

- @pBL Sfueemsid® abst LES ehud GrGsstisd LB smpdpg?
A) ugd-VI - _ o (B) ugd — VII
© ‘ued-VII . O ues-IX

13.  Right to vote and to be elected in India is a _
' (A) Fundamental Right M Constitutional Right -
(C) Natural Right _ .+ .(D)- Legal Right

QiHurelld aunsselagbd 2 Manw wHmL Gﬁﬁﬁ@g@e‘sspu@tb 2 Meno eTENLIg)
A eiglueL 2.faw . - (B) ewHueewiy e few

© Qupwsefenw . (D) eLefew
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14.

15.

The NDC decided to launch a programme to incentive the states to increase the share to
investment in agriculture in their state plans. This progrmime is called as

RKVY | (B) PMGY

(© - ¢oB ' - (O MIDH

NDC fimpeuend, Geuarremanioeows . easaslLBSsab, Ceuemramewean ofswrer s el
snewLeyid wflemssefic g HLsms TD9558). Sigen QU

(A) RKVY | . ® PMGY

(© CDB . (D) MIDH

In India the level of ‘consumer expenditure is desirable which secure a diet adaptation at
least in terms of calories is said by ' '

(A) Dr. Minhas : (B) P.K.Bardhan

M Dandekar and Rath - (D) 'V.K.R.V: Rao and Asok Mitra-

16.

@sdureler msiCeumfan eﬁl@tbﬁg_g.és Gmwhrrang} ‘ThE ey o_emrellen '&mmsu TRULSDES

' urrg;&;rruq Qar(Héslng ereny sadlwieui
 (A) Dr. fagomed. . .® PK uigre

©) LenGLai wHpb g - D) V.KR.V. grés wpgb siGsns By .

Recently CSO has changed the base year for National income estimates. The new base year

18
(A) 1993 — 1994 - B) 1994 - 1995
M 1999 -2000 (D) 2004 — 2005

Gl m@mnémb sensEd_LLPasDE SigliuaL gpear® CSO wrpfluewsdmesnd &

C(A) . 1993 -1994 (B) 19941995

© 1999-2000 (D) 2004-2005
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17. The Governmenf of Tamilnadu has introduced an insurance scheme for life saving

treatments for the families having an annual income of less than
(A)  Rs.15,000 PN Re24000
(C) Rs.25,000 - -~ (D) Rs.20,000

s oips Gun@@é&eﬂw &Iuﬁlﬁesmi;@Lb Ld@,isg}m Qawellpars s @ eusd -
QUL (eI GlugiuLb GOLUREEES afiGgday. |
(&)  .15,000 . (B) . 1.24,000
© ©.25000 ) .20,000

18. "The National Afforestation and Eco-Deirelopinent_ Board was set up in India on .
(A)  August 1990 ' (B) August 1991 -
& August 1992 | " (D) August 1993

PiHwureller CaAw srdaer euaTiiLy mﬁ;g{h Qunaerrgmy paGendm corflwibd At cg

A)  ssav® 1990 . (B @ysav@ 1991
© a5 1992 ; D) w@si@ 1993

r

19. Swami Dayanand‘fOunded Arya Sam;aj in
\M Bombay . (B) Calcutta
(C) Delhi - (D) . Lucknow

@m.& suranpat hw swrgseas Carppeiss B b

A)  ULbumd ‘(B) sasipr
© QLo | (D) waGem
AEGS/7 | 8



20.. What is the percentage of net irrigated area in India under tank irrigation?
A)  14-15% o ®) 10— 12%
G 13-14% y D) 14-16%
. |
@pSwrellen Bay ‘r_%frurrs;;or ugueredle gl ungensSe aflp&an(® eremen?
@A) 14-15 e _' ~ (B) 10— 12 Slpsen6
(C) 13- 14 Apaar® _ (D) 14 - 16 Apsar®

21.. Which of the follovﬁng is not a solid planet? .
(A) Mercury - * (B) Venus
(©) Earth @ Jupiter

et peuenaupmer 618 HLECaTET DibD?
@) uger . ®) Goucrefl
©) gy D) efAwmpen

22.  What is the length of Indus river in Indian Territory?
(& 719kminIndia '~ (B) 700km in India
w 709 km in India c (DY 740 km in India

b8y faiugdsgen Abg pHuden Sarb eremen?
(A) 719 &.8. , | (B) 700 &.85.
(©) 70988 R (D) 740 &.5.

23.  Which of the following holds the ROM, CPU, RAM and exp ansion cards?
(A) Hard disk (B) " Cache memory
Mother board (D) Main memory

&Qe’s&dm_ajfp@sb. ergl ROM, CPU, RAM wimiib eflfleunss si_eLeow Gy g160&TanE@nn?
@ feocald . - " (B) . Qe wrhn Haaeusd
(©) gnulu;lua)a)& ‘ _ 13)) @gsha)m Blenereusin

P | - 9 - ) AEGS/17
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24.  The father of white revolution in India o _
(A) M.S. Swaminathan : MVerghese Kurian
(C) C.Subramaniam | (D) Hargobind Khurana

QiHureiler beustmanio Ly Hulen shHens . _ .
@) MS. sandpigan B) i gfluar
(©)  C. sumoesfiun . D) apiCamlen @rmenm

25. " The institution that hops the ranking'among colleges in 'NIRF'-201_7 is
(A) Loyola College (B) - St. Xavier's collegé
.(C) Shri Ram college of 'com‘meroe_ i W Miranda House

NIRF-2017 &, Caflw sierefied Gr‘l'jgs sagnf adL1b 19y Sayererns;?
4)  @Gurer sognf | ®B). yels ol sdgr
(O ubymb cuefia sdgnd )] Lﬂl}_ﬂﬂ'ﬂ. Beveld

26.  The Central Govemment scheme that ensures a pucca house to every urban poor household _
by 2022 is '

M Pradhan Mantri Awas Yp] ana
(B) Smart City Mission .
(C) Pradhan Mantri Fasal Bima Yojana |
(D)  Pradhan Mantri Jan Aushadhi Yojana

2022- ~D@er parisafit mrr@m qmp&@a;@ Sopsy sﬁ@ Qasrr@s@m Wi amﬂm ﬂl_l_m Grgl?
A) Gz wHHAe Saumed Cunrggenr

(B) el Sy iflager ’

© - Qysw m{;ﬁﬁ]ﬂc‘a o sLITED Som Gu.lrfgmrr

D) Qgsw wpHMlear ger sajaysd Curgenr

AEGSN17 o S U I \ . _p_'



27.

28.

29.

The WHO Director-General's Special Recognitioh A\&ard for global tobacco control has been
conferred to '

(A) Raj Nath Singh - (B) Arun Jaitléy
(C) Maneka Sanjay Gandhi W | J.P. Nadda

e asaeld yomslow sAUUEE DswumpBlumpurd 2o sETSTT Poeuer genaweufien Ampdiy

udanr ofl(heng QuhDeu
@A) g prsfE | (B) sipem AgLed

(C)  Coesr sgpai mpdl . (D JP.piun

The agency; in India that is authorised to_mairlltain Indian Standard Time (IST) is
(A International Bureau of Weights and measures ' |
(B) All India Radio

M National Physical Laboratory
@O Bhabha Atomic Research Centre

@b S L Cprsens LymoNéeib Bneend org?

(A sieuGse s HmD SiareiHsaflen QrueaD.

B) | SimansHHEwL aun@aned)
(C) Gsfliu Quandls ;%q'.:ma;;b
[$))] uirer Dig .éwrru‘.léél WD

Phosphorous strait divides the continents of

- (A) Asia and Africa (B) Asia and Australia

(©) _ North America and South America - W Eurbpe and Asia

urevuren Blenamiy apbg @@ AuEr s _hisamar Lfs8ng7?
A) S Hwurwppbd HodEsT . B) Awur wHmD spevy Crellwm
©) e wppb Azer HGwAEST . (D) gCymiun wpmb Aur

' n : ~ AEGSN7
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30.  India’s first private raﬂway'statibn 18 _
M  Habibganj - _ | (B) Bilaspur
(C) Kachiguda o (D) Sealdah

Qpdwirellen s g;éaﬂu_lrrr'r rulleh ;E]ma)ﬂ-li a5
(A anSusegy v B @mr:rdugl’r '
©) s&flELnr | _ (D) foLn

31.  Which one of the following is not a vaﬁant of PSLV?
(A) PSLV-G ' (B) PSLV-CA
(© PSLVXL , P PSLVaLy

EpsaL erg PSLV-uler suena Sidre? .
@A) PSLVG - . (B PSLV-CA
(C) PSLV-XL | (D) PSLV-uLv

32. 5% Bhupen Hazarika National Award, 2017 was conferred on
. (A) Madhuri Purandare ®B) " Dr. Arunava Chattopadhyay
W Yeshe Dorjee Thongshi - (D) Jeeja Ghosh

 2017-& ghgreug) e goranflésr GaAw gl Quniueuir

.(A) wrgf ygreawre Gy ' - B Dr Siapemteurm #_GLrugurGu
©)  wagefl Lrig} Gamiiaf o O | B Caray

AEGSNT | 12



33. -

34.

Consider the following statements :

(a) The raising of salt duty from 50 paise to one rupee in Surat in 1844, Caused a great
discontent among the people.

(b) - Faced with a popular movement the government with drew the additional salt levy.

Choose the correct answer from the options given below :

W Both (a) and (b) are true

(B) (a)is true and (b) is false
(C)  Only (a) is true
(D)  Only (b) is true

Spsaan cursdlutismen seuafsseyld.

(a)  1844-b & Grade 2 Uy euflemn gibLigy evusTellaliBhBEg s muTLITES 2 WISHLGTH

&ESET AS(HLIS DienL e,

(b)) wasafien GumpmLgAnE Genent, 2irs 2 wigw sBHge 2 Oy cuflenw Smbud Quppg.

&psQan@aasiul L Hmbg sAlwrear eflentamu Ggfla Qsiwiab
&)  (a) wpgd (b) YrawBHGo &M

B)  (a) sf yea (b) saum

© (@ we G shumes

D) () ol God sflunengy

Which mission was sent to India in 1946 that comprised of Lord Pethick Lawrence,
Sir Stafford Cripps and A.V. Alexander?

M Cabinet Mission (B) Cripps Mission

(C) Simon Commission (D) Chelmsford Mission

QAufls ergered Gy, s SoLICLIIG Sl whmd AV, 2Qessmpst SILBHL b SISEGEW
1946-& QpHwrellnE sigiuiul L g?

A) GsYenl. gngisEp | B)  Afldev gngsE e

(©) evewen G | (D) QabevGui® @

13 AEGS/17
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35.  The Chola kings provided lands to the officers and their successors were called as
(A) Salabogam (B) Tiruthabogam
@ Jividham - (D) Viruthibsgam

siflsmila@éEh seursdr Qg seuigh wurflss@ss@nd Camp werarraarme QUPRIBLILHILL
Plewd Geraurmy senpssiuRdng:? | .

(A) s Gurabd (B) Hmss Cunsid

(C) ez _ ‘ (D) &f(Bss Cursd

36. | In 1760, Lally was defeated in the battle of Vandavasi by‘
(A) Robert Clive WP Sir Eyer Coote
(C) John Cradock D) Gillespie

1760-1b el pLps cupgeuns] Gurfier enrdleni Cgnpaysseut wmi?
(A) @rrur’ Hewereu (B) sl

(C) - gren HCyLré D) Qe

37.  Thiruvasagam was translated into English by
(A) Robert de Nobili (B) Father Mello
M G.U. Pope ' (D) Father Buchard

fmansssas yudasdo Qumd Auuissait

(A  @uruir-1g-Grmaed (B) QuaCer ur@fuwms
(C)y G.U.Gum D) yser urGRwi
AEGS/17 14



- Which is the First reputed Novel in Tamil?
(A) Kamalambal Charithiram
(B) Padmavathi Charithirarﬁ
(C) Pancha Thandiram

M Pratapa Mudaliar Charithiram

s GrésH Qupp apged Braud arg)?
(A) swembumedr #AsHmnd

(B) ugwmeudl sfigdybd

€ ugpe gpdrod

D)  Qgsru wasdwn sfgHyn

What type of Sampradaya of Vaishnavism was propagated by Ramanuja?

w Shri Sampradaya
(B) Brahma Sampradaya
(C) Rudra Sampradaya

(D) Sanakadi Sampradaya

JILOTEIRIT heucigenreu FDWSHE THS GUMS SOUITSTUIGEEET Gunﬁgﬁnﬁ?
A b &Lbl:ll]ﬁﬂ’llJl:D

(B)  Qpbw sHAFSTWID

©) ®sys:DOTETIWD

(D) semad sUTSTWID

15 : AEGS/17
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40. The million wells scheme was launched in the year

@ 198889 - (B) 1990-91
€ 1991.92 ©) 1993-94

tevedlwetr lemmmiser S Lib g ddEsiu L. oyt
(A)  1988-89 (B) 1990-91
(€©) 1991-92 (D) 1993-94

41.  The marked price of an article is 20% more than its cost price. A discount of 10% is given.
After discount the price is Rs. 518.40. What is the cost price?

& 4180 B 576

(C) 596 . -~ (D) 598

@® Qunmaier oL ssaloamemu 8L @;615,5 diime 20% siflew. 10% gerepLig gsquu(aélmg._
BeT@nLIg 6@ e Guinmaflen afleney 65.518.40. Qurgneficr auseseﬁlsoa) Grena?

(A) 480 ' B) 576
(©) 59 : (D) 598

42.  If a car travels at 60 km per hours for 2 hours and then at the speed of 80 km per hour for
4 hours. What is the average speed?

(A) 68 kmph ' (B) 70 kmph
()  72.1kmph " 73.3kmph

2@ st wellsg 60 418 Cauasdler 2 waliGrmd Grurellsdpg. Ger 4 LaRCHHD wexflég 80 &S
Gauggdle Aevdlpg. sqreR Gaus eremen?

(A) 68 &.8/wemh (B) 70 &.8/ e
©  72.1 &.8/wemf : D) 73.3 &.8/wed
AEGS/17 16



43.

44,

45.

By which year the Swatantra Party was established?

: 0/ 1959 ' (B) 1958

€y 1957 (D) 1956

55T B8 s yeirg e Hlmeuiula_g?
(A) 1959 (B) 1958
(C) 1957 ' (D) 1956

Find the least number exactly divisible by 12, 15, 20 and 27.
(A) 504 B) 270

© 108 G 540

12,15, 20 wphmib 27 eraimgermed flwims eugu@ibd Hasdibu eramanes s smars.

Ay 504 (B) . 270
(C) 108 _ (D) 540

Who started Radhaswami Satsang in 1851 with Dayalbagh with Agra as its headquarter?
(A)  Guru Saligram Sahib Bahadur |
W_ Shiva Dayal Khatri

(C) Satyanand Agnihotri

(D) Madan Mohan Malviya

c%&;rrrsﬁei) o grar  FuNELTE®E saoew@wrEs Qerar@® 1851 prgmEmll  sssEEs®S
Qasmrmdlwueut wrr?

(A) & srddgrd sradll LsgnT

B) Slow swmer &M

©) sswraps saNGanns

(D)  wger Curaen wrdefwr

17 AEGS/17
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46. The area of a circular field is 138600 m2 Find the cost of fencing it at the rate of
Rs. 4.40 per metre. ' '

(A) Rs. 5800 : W( Rs. 5808

(C)  Rs. 4808 (D) Rs. 6808

@@ eu L wrer euweller ugluerey 138600 sgEMBLLméE @m. 440 eisn, s Caued

SnLLIUSDETE QFRey STERTS.
(A)  es. 5800 (B) . 5808
(C) . 4808 D) . 6808

47.  Gold is 19 times as heavy as water and copper is 9 times as heavy as water. In what ratio
should these be mixed to get an alloy 15 times as heavy as water? .

a4 11 y B) 2:3

© 1.2 . M3:2

SEBISLD g,eiu‘razs’l’mrjﬁ Gumér 19 L kiE seorsayb, gnlﬁqm gamesfeny Gured 9 LLME SELISAHD
o drangl. gamamergls Gured, 15 w1 kg sawrer 2 Gorss swma GUD, Qaeusd aweildgsd
s&asluL Geue(Hb?

A 11 B) 23

C 12 D 32

48.  Which year the National Mental Health Programme was started in India?
(A) 1980 (B) 1981

@f 1982 | (D) 1983

@sHwrede i LD CoAW aGpmi S&TETTE S rodssiulLg?
(A) 1980 (B) 1981
(C) 1982 (D) 1983
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49.

o0.

51.

A bird flies 200 metres west and then turns right and flies 100 metres. Next it turns east
and flies 300 metres. Again it turns and flies south for 100 metres. How far is the bird from
the starting point?

W 100 m - (B) 150 m

) 124m (D) 116m

@ upamer Cuohe Hmsufie 200 BLLT upss awg upd HEwd Guogib 100 BULT upsdng.
Qénat SipsGa Hmbd 300 BLLT uphg e @b Ogne Hasudies 100 Bl upsfing. prou
yeraflu@eSghbg Lmeneu ereucuaney sysdHe 2 arengl?

(A) 1004 (B) 15045

(€ 1248 S (D) 11648

The ratio of circumférence to the diameter of a circles is approximately

Ay 8:11 (B) 11:8

© 7:22 7 22:7

S aulLddr spparedi@n <iser AL SHDED o drer Bl (Camymuwnns)
@ 8:11 S ® 11:8
© 7:22 o ® 22:7

Ha:b=2:3,b:¢=5:7 and ¢ is 42 whatis a =7

@ 12 @ 20

) 21 D) 22

a:b=2:3, b:c=5:T arafled ¢ =42averpred a="?
Ay 12 B) 20
© 21 D) 22

19 ' . AEGS/17
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52.  The mass number of a nucleus is equal to the number of
(A)  Electrons it contains (B) Protons it contains

(C)  Neutrons it contains . M Nucleons it contains

R0 SA@GsBeSlan flany ereir ergen araimeal e ssEE swoib
(A) N maE0L owsl sranser B)  ffma@d G _rétaser
©)  POBEED Py grenser (D) SiIFmEGLD By seflureansar

53.  The potential energy of a particle executing simple harmonic motion is the méximum at its
w extreme position |
(B) mean position
(C)  the midpoint of mean and extréme position

(D)  one third of amplitude from the mean position

creflu Fflems Qusssflaean CupQandtend g gaaig Pleow ghpd oisa aps Hoaulo
Qu(mLMTELD?

(A) o flee
(B)  ewvwfoe
© ovw fawégb woear Hamandeda_Gorer L eraf]

O owwAowddmbs oSssmag apandlé g ki G Hlevew

54.  The distance between two consecutive nodes in a stationary wave is

w A2  ® 4

©)  31/2 @) il4

Bleva sievaniles 2 drer HGEEHES samissHErse B Ganar Qgrewe
Ay /2 ® 1
(Cy 34/2 D 4/4
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55.

56.

57.

Which one of the following is a non-stercidal hormone?
(A) Estradiol M Prostaglandin
(C) ~ Prosgesterone (D) Estrone

Spanandlpeupmer evegmi® sieeng anritGuore 6Tg:?

(A) el Tepwmed (B) yGrmevGrélevmeinig es
©) ' Lipssenig Gmas D)  mevGomen :

Point out the wrong statement in the following :
Statements :

(A) The part of the cell which occurs between the plasma membrane and nuclear
envelope is known as cytoplasm '

(B) The cytoplasmic matrix can perform movement due to cyclosis
(C) The matrix is the seat of various chemical activities

\y The cytoplasm is composed of only one type of structure i.e. matrix

sl sHig G0 gaupTaramns &1y & srarmdssew.

H(HESSIHSET :

A @@ Qsddlen Gamavor gaeinEb 2L smefean 2 ampasEd @ LulL. ugdHudld o emer
uresdn@ ens GLmGemnab eremmy AU

B) s Crlamevfls Gl Rée pamD Seemwanw Carampares;

(C) CulNaed erarug Heapw CeuFufwe AFwe pen_Qumbd LGHWITGL

D) s GLmlarmevid @GF (f SMLUILTD 246g 215 e GolMaev

Oxygenated blood is carried from the lungs to the by the pulmonary veins.
(A)  Right ventricle
Left auricle
(C) Right auricle
(D) Left ventricle

mieoruigelier @mHg ——— udGor flep apowTs sediga ghpliulL Arssh Aebddns.
(A) gy Qeuckrigfdled

B Qrg féde

O auog yRsdd

D) QLg Qeusrrg Al
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58. The period at which organisms attains sexual maturity?

(A)  Proestrous ' ‘V Puberty
(C) Diestrous - (D) Metestrous

o0 e Wllangder Lrd uaLger WHTFH DeLgd Grmb
(A)  pemeravigev - (B)  guQuiigged

© @ aelye (D) Qur@Levl yed

59.  In monohybrid cross a typical genotype ratio is

A) 3:1 ® 9:7

.(C) 9:3:3:1 | ' Ml:?.:l

@HapL LaTUsS Skl GNERD STeULIGL WILSTT auig b
(A) 3:1 . ® 9:7

) 9:3:3:1 D 1:2:1

60.  The secretion of adrenalin is controlled by
(A) Follicle stimulating hormone
(B) Thyroid stiniulating hormone
\M Adrenocorticotropiq hormone

(D) Luteinising hormone

arhg anmGlores S fMlendllen srsgeme s QUUGSSAeTDg?
(&) undader grar@b apmirCuomen '

B)  esymU® gemBL apniGore

©) @l ACerr sring Camqym9é anmrGuores

O)  @uygeendiis goriCuomer

AEGS/17 22



61.

62.

63.

The words ‘secular, ‘socialist’ and ‘integrity’ were added in which of the following

amendents
M 427 Amendment | (B) 44%* Amendment
(C) 46 Amendment D) 520 Amendment

SpssaT_ aps sl Hmpssdd ‘wasETTUDD, ‘FogiL LOHNL @EE@LUILITE TD UgRE

CarssLnLLes?
(A) 42ag Bl SHmssn (BY 4deugislr ﬁ@;’f,ﬁﬁ)
(C) 46 aug sl fimpswd (D) 52 eug L Simsswn

Indian Parliament passed the Administrative Tribunal Act in the year

(A) 1981 (B) 1982

7 1985 (D) 1986

@sFHw urymEpLassTe fifcuras STILTLE SLLD BHLPBDEE UbS B[
Ay 1981 (B) 1982
(© 1985 (D) 1986

Constitutional safeguards to Civil Servants are ensured by
(A) - Article 310 (B) Article 311
(©)  Article 312 7 Article 315

2ps 2 Wit sfarfsErsEl urgisriuaisgn sirsliumemoly sl flwirangy
A) &f4 310 (B) o4 311

(C)y &f 312 (D) &4 315

23 | AEGS/17
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64. The council of Ministers in a-state is collectively responsible to
(A) Lok Sabha (B) Rajya Sabha
(C) Parliament - ' M Legislative Assembly

ITHler DTSl DienLoFeiTHeT G)euTaEnhaE SLHILILLLauigaTTair
(A) wsseenay (B) mn‘ﬂwﬁjsmmm

(O ummepwenmb (D) &L werpd

65.  Who of the following decides wﬁether a Bill is a Money Bill?
(A) The Finance Minister '
(B)  The Chairman of the Rajya Sabha
(C)  The President
M The Speaker of the Lok Sabha

Epsam_euiselle) wnt g wCsrsr Ler wCaSTEUT Qéemawr sraugmen Sioreladpri?
(A) PHuewssit
(B)  Gueaeander genaourt

| ©)  BYwwrss s

(D)  wésmma sUTETLST

66.  The famous book, ‘Principles of Public Finance” was published in the year
(A) 1920 B) 1921
W 1922 D) 1923

yap Qupp, “Quirg AEufen Cam_Lr@adr eram FId Qeuefud UL L 24HT(H
(A) 1920 (B) 1921
(© 1922 (D) 1923
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67.

68.

Family planning programme is implemented by which Government of India?
(A) . Central Government with full financial assistance of WHO
(B) Central Government with partial finance assistance of WHO

(C)  State Government with full financial assistance of WHO

y State Government with full financial assistance of Central Government

Qpdurelied arps s GOLUL pos HLLSos penl(peplLBsadpsg?
@)  awvw eigs - WHO-é (o Hifluyseuy e
B) ewvw ips - WHO-ev undl Fllusefluy e
©)  wmbe oirs, WHO-6 pp 18 2 sefluy_an

(D)  wrhe Sre, evww igher wpp B 2 FelluL e

Govt. has recently allowed 100% FDI in many strategic sectors. Which of the following

sectors has not been opened up?

\K Space

(B) Refinery
(C) e-Commerce
(D) Power

@b o7& 100 ggeidls Qeuafipr’ (B QpﬁSLmL uoGeumy giewnaaia easgeaillsgererg. S ahbs

glenm Sl FHLLeflene
(A) SlemQeuaf

(B) | sdlafiay

(C) e-auemflsbd

D) o548 .

25
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69.  Assertion (A) : The volcanic dust is considered to be responsible for ‘Little Ice Age’.

Reason (R):  Frequent volcanic eruption had initiated the process of Ice Age in the
geological past.

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true but (R) is not the explanation for (A)

W Both (A) and (R) are true and (R) is the correct explanation for (A)
(D)  (A)is true but (R) is false '

spm (A) @mdlw usuﬂasa;rrwg@m 2 (meundasHne el Lna)ev;s gnmar STTERTONG
' ds@g;uus_.l._g] :

srpeenid (R) :  Ggneimanw sra Yol siewlilludiien amsgiLy Qsmisfiwre erfluame SHpriser
ueflaTagens QFTL_ESDS HOOHSI.

4 (A wogo (R) @rer@®d geum

B) (A wedgw (R) sM gema (R) ereng) (A)ellen sfwner srranid i
© (A wpgbd (R) M (R) eremug) (A) e sflwnen smyemrd sren

D) (A sl yema (R) gaugy

70.  Which of the following is / are correct?
Major exports of Tamilnadu
I Textile goods
IL. Chemicals
III. Petrolium
IV.  Engineering goods _
(A) IandIIonly ®8) IandIV only
© IVonly W LTand IV only

HemeumeueTeupmieT #flumenaney 618 / eTaneu?

SUDHT 1g e WEEW THMS Gurr(_w,l_a;m

L glowt cuangaer

II. @uerwendigen

III. QuiGprellwd

IV, Qumdlullwe Qurgmser

A  Tuopgsd Il ol @i B Twpgd IV o @b

(C) IVwl@bd M) L II wpoyd IV ol @uw
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71.

72.

73.

The standard created by Electronic Musical Instruments Industry to connect a music

synthesizer to a PC and vice versa is

\uf MIDI (B) MINI

(C) MIKE (D) MIKI

@ws @earuuisdow safliuAurMCur) GQmarssad HSHEG wHSHOWTSHD CFLausHE

Denangm) @enss smedlsar auaflaggnd e (GaunEsiuL Sy 24 (GLD.
Ay e gy g MIDI) (B) enb gp erén g (MINI) '
(C) o g Gar (MIKE) (D) oo g Go gg (MIKI)

What is the name of the Pr_ofessoi' who coined the name computer ‘virus’ for self replicating

programs? .
(A)  John McAfee G Fred Cohen
(C) Ted Nelson ' .. (D) Lance Hoffman

genearssnGar QumEED srihE. saflall peafize aap Auwuey GsTEHs Cuymdfur Auui

GTeses?
- (A)  gren Gl (John McAfee) (B) Qur Gsramer (Fred Cohen)
(C) Ol @peeger (Ted Nelson) (D) enee e LGwen (Lance Hoffman)

‘A temporary storage area, attached to the CPU, for I/O operétions is a

(A) chip G buffer
(C) register (D) core

CPU-Lerr @enamésiu_Heter 2 dref® / QauafiSp Qewdumn_Résns 2 goyb sperdls Gaslliusd

(A) Saog (B) @eLwsbd
©) ufCa (D) o drersd
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74. - Palbinder Kaur Shergill was in news recently for
M Appointed as Canada’s Supreme Court Judge _
(B) Appointeci as Secretary, Department of Ecdnomic affairs
(C)  Appointed as Judge of Supreme Court of India
(D)  Appointed as Judge of Chennai High Court

uredpsi seyi Aergler eranucui Qedgratseafias euy smyeamd ereen?
(A)  sen_mellen 255 BHosny BHLHwTE GCampRs®asiul L

(B) Gun@mr@:ﬁj geopller dewarms uaflwwigsiin L_mr

(©) BrPu 2 &5 fhHoan FALALTE LefwwigsiL Lt

D) Ceamenar 2wt FHweny f@u_ﬁu_ms vesflwofgglin L ‘

75. The first Indian women to be elected to international tribunal for the law of the seas is

(A)  Seema Malhotra . M Neeru Chadha
(C)  Lakshmi Pandit (D) Preet Kaur Gill

HLQSIT 5L RiS@EhEsTe sTuCHs STLTLEADE CombOFRESILLL Wed @bSu Quekr wimit?
Ay éworm mcb@@)ryt’.urr ®B) B &,égrr
(O  osayd Lamg D) 9fs seyit dev.

76. Which film has been declared as the best film in 622 Film Fare Awards 2017?
(A) Sultan . (B) Pink
(©)  Neerja W Dangal

62 b Heoquu fme s aﬁiggnafﬂa) 2017 @ é];npg; Qmuuul_mms Ggrrg_r;@g@&&uuu_

eyl ergy?
A)  sogsren ® . 9u
(O Bagr D) srhs®
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77.

78.

- 79.

 What is AUSINDEX-17 related to?

(A)  Scorpene-Class Submarine
(B) Artillery gun _
W Bilateral Maritime Exercise
(D)  National Stock Exchange of Australia

AUSINDEX-17 arsGam(® QsmuimyenLwg?
(&)  evsmlan DS gf;rr @EP*%T UL

B Syl

©) @@gslfuq sLdemT LblH& . _
()] %Gm‘é,]cqaﬂmrrsﬂm Caélw uiiEL urﬂeunggmw émLOIILD

Cartosat-2E satellite was launched by ISRO through the launch vehicle '

()  GSLV-F09 , | MPSLV C38
(C) RLV-TD" - -~ (D) GSLV-MK-III

amiGLrem_-2E Qewpes Gandr ISRO-aurd ahg aungand apeold ailin g°?
() GSLV-F09 ' (B)y PSLV-C38
(C) RLV-TD o (D) GSLV-MK-III

The theme for World Environment Day 2017 is
(A) Many species-one planet-one future

(B)  Forests-Nature at your service

W Connecting people to nature

(D) Zero tolerance for the illegal wildlife trade

2017 o @8 sHQEERD HargSen smIQurmer

(A) ue Qenbd-uGr Garer- 9(317 agisreon .

B) &;rr@a;em@mm Qupans ploée Geeme G&Lués'lmgj

©) PQupmsCur® vallgismer Agr_iyLu@BSS

D) - &Ll_‘aﬁlcmrgmlrm msﬁeﬁ]mrﬁs@ mirawﬂugmgs apdHgid Qurmss ‘@m;mrg

29
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 80. | India’s latest co_m'munication satellite GSA’i‘-l? was launched from
‘ (A)  Satish Dhawan Space Centre

" (B) Kourou, French Guiana - |
W Taiyuan Satelhlse Launch Centre |

(D) Vikram Sarabh,au Space Centre =

@pdwneilen GSAT-17 erenp Qgmy G&u.:gbma(_'ﬁ&rm‘n‘ Sicrenioudd erisflBBEI G}'Q.IL'JUI.:.t‘._@?
&) s Lreuren eflamGeus eowid - | '

B)  seupméy, QUGFEES c;mu,: e

©)  wpueuner AeupassGarer gaigenb

(‘D)_ e8l&d srymami eflanGeuafl epowid . 4 -

81. Bipin Chandra Pal addressed a huge crowd assembled on Marma Beach dunng the year ,

C@ w817 _--__0(-1907

© 1%6 | o igle

QuwMenm &Lg)smuuﬁa) “ller spAluned erbs %mq.e) uS]asuQulﬂuJ Sl L LD @an,r_f)la) amuu.mpgﬂarmr
(A) 1917 ' -. . - (B)' 1907
© 1906 '. o @ 1916

82. Whlch among the following was the ﬁrst Inchan Vernacular Newspaper‘?
Sambadh Kaumudhi _ o ' (B) The Bengalee
(Cy  The Young India _ (D) The People’s Friend

&g&nmrumm&@m @gjgﬂurreﬂlar Qe lﬂr,rrr‘mﬁu.l Geifggmer THI?

(A)' smu,sﬂésm'@ﬁ . '. (B) § Quiismed -
© Huh@pdur D) 88096 Gpen
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83.

84.

-Consi’c_ler the fo].lowing_: ’

Assertion (A) : A typical Bacteria Escherichia Coli is a prokaryote.

Reason-(R)_ : It is able to swim by flagella. ' |

(A) Both (A) and (R) are true and (R) is the correct explanation of (A). _ '
( Both_ (A) and (R} are true but (R) is not fhe correct explanation of (A).

(C) Both (A) and (R) are false.

D)  (A)is true, but (R) is false.

Spser_ eursfluiisenen seuaf] : _
saphm (A) 1 arev@sfOum erenm Lrdie R qunG&rﬂuanl_; &nﬁbggj. '

smann R) 1 i sosfopund pamb Spdr Qg

(A (A wpmo (R) @l}e&ﬁ@nb &fl, Gogub (R) sTe'on._J@ (A) &AM sMwirar efleTdEsd @LD.

B) (A HYID R) @ren@i &, Gogib (R) araérug) (A) sllpe sflwres ellerédswoeia.
€ (A vpgd (R) @reaBo saug.
D) (A) s, geme R) geum.

In 1930, the Salt Satyagragis marched from -—-—— to Vedaranyam.
W Tiruchirapali - - - (B) Kanyakumari

(C) Nagapattinam | _ (D) Tiruvarur

1930-1b ehr(® 2Ly &gmﬁﬁqﬁam-—m— QBpHg Caugmernun Crradl pe LweRTLD
CuonQsreirL_eir. 3 ' ' '

(A) HwsAyriueet | - ‘ B  seaaflungwd

(€) srebulgend D) Hpeuren |
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85.  The book “Public finance” was written by “
(A) JM. Keynes . _ |
B) JS.Mill R
W AC. Pigou ' | -
(D) AR.Prest
Qurmemgrsde “Qung " eremp Fre u.nm_;rré) eTpBSLILIL L &7 ..
(A) Ggeb Eama
B) Cg.erav. 1flé
© 898 - -
D)  g.gr GrevL.

86.  Who was the poet responsible for the release of Cheran Kanaikkal Irumporai from the
Chola Prison? B : R :

M Poigaiyar | (B) Avvaiyar
(C)  Kakkai Padiniar ' (D) Nakkirar

Gayen seneméansd mbdurepau Cempi Senpufembs L5 2 geflwimil B®HS Loeui wri?
(A) Qumienswms | . B) PATEHEUWIHTIT

C) =i uruq.éﬂu_:rrr’r ) : Dy B&EETT

. 87.  QOne of the main yvéaving centres of the 'Impei'ial Cholas was
(A) . Tondi - . ' | (B). Madurai
(©)  Poombuhar 7" Uraiyur

Gampts Guyyfléd Apsays Asmfld pe Quibp Q,oé;ﬁﬁ.rmrrar gL msefld ey erg?
@) QGpremg . ® eger
€) ybysrr : . D 94@9@"
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88.

89.

90. .

What is next? .
@1+, @1+7, 1+7@, ...

@ @1+ . ® +rte
W_+?'@! . ' D) +@+!

»

2SS 6u(HeuS) sr_siﬂeﬂ? )

@'+, @!1+?, 1+7@, ...

@ r@t+ o ® +?71@
© +2@! . | D) +@+!

If ANGLE is written as CPING then PLANE must be written as
(A) RNCGP - & RNCPG
(C) RNCQG (D) - RCNPG

ANGLE ds&rugj CPING aren erapgiLc Lré PLANE eréueuny erqpsiiuL. Goudm(id
() RNCGP | B) RNCPG . "
(C)y RNCQG ' B (D) RCNPG

‘The volume of a hollow cylinder of length A, inner radius r and outer radius R is equal to

@)  rhR-7) - NP sh(B -1

©  xh® - - D) %frh(Rz—r2)

e eetefpp e menearullen Bomd h, Qeuafl wHmyid o Gteul L st R WOHHD 7 DT 2 (Heneruden
ST D(GTE CTEIE? ' ' |

Ay ~h(R-1) | B) zh(R*-r%)

©  ThR -1 | @ SEhE -
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91. Two persons A and B.are ehgaged in a work. A can do a piece of work in 12 days and B can
do the same work in 20 days. They work together for 3 days and then A goes away. In how
many days will B finish the work?

@ 9 : . ®) 10
12 : | ®) 17

Awppd B @reumd g Cawamu Asiddmpeant. A, 12 pm_safid SaCamamu .(Bou}ai;s QpiquiD.
B gyarauit 21Gs Geuebavenws 20 pir.safler apigds apiguyid. A, B e Carpg 3 Briser Geuene
QeiisPen A sieuemgell B Gsenmyed L. B8 Camamw B assaan prisefie: gpg.lumi?

@ 9 - ® 10

© 12 ' @ 17

92. ° Find the missing alphabets in the given senes
13ca, 216fab, 25eb 237—, 46fd

&) gee %’ geb

(C) gdb | : | @) fcb

Genrr@asssum_t_ Qgm_fld Gasmq.:._l., @L,sﬁsu @@M Gmm‘rqu.l TUPSEIEET WTena?
13ca 216fab, 25eb, 237——, 46fd, .

(A)  gee ' . (B) geb

€ gdb , ' - (D) fcb

93.  Muskmelon, Watermelon, Vegetables Cucumber, Moong etc are growmg during March to
June in Indla Itiscalled as

(A) Kharif Crop (B) Rabi Crop
& Zaid Crop | (D) Horti Crop

g,mrm?rr LD, gsrrugmﬂu LHQLD, s;rruJaspSIa;qT Qmmarrﬂ umﬂuuuSlrr @m@gm Ho LurEaT WIiTE (y),sa) '
@ en cueny @p}@u.me‘fﬂa) 2 pusd QriutiuGAPg. Qeuddlen Gungeurrar Quws

A srflu udir _ ' o @) pm8 el
€  gusudi © D) apmig LR
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94.

95.

be?

(A) 194, 143
195, 142

,g/ 195, 143

) 196, 144

The numbers are in the ratio 15:11. Their HCF is 13, which of the following pairs can they

@uswr@ erearaer 15:11 erem aﬁla&lg,g@@mm &mm&aﬂm B.Aumen-13 arafler, ECp QamBésiuL

ramsefic Grglcun'a; @@5& @)lq.u_]LD?

A) 194,143 -
(B) 195, 142
© 195,143

(D). 196, 144

SJ.mphfy -3x- 10 x? -2x+4

2_x- 20 x> +8
A x+4
1
C
()' x+2

% ~32-10 a’-2x+4

*OEGE x%-x-20 x*+8
A x+4
1
C
© x+2

N 4

)

(B)

™)

35

x+4

vvx+2

x+4

x+2
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96.  The monthly income of a person is Rs. 5 000 If hls income is increased by 30% then what is
his monthly income? :

(A) Rs.7,000 _' (B)_ Rs. 5,500
(© Rs.3,500 | of Rs. 6,500

ROAUGE®LL  1OTF QUHLOTEILD . 5,000 ala.l@ml__u.l u:rrgs LI (THLOTETLD 30% LI.LJ@LD Gun'gj g
QU(BLOTEITLD GTETETOU S @) (HEELD? '

(A . 7,000 | : B @.'5.50'0
© @ 3.500 D) @.6500

07.  The valué_of (-5)_(‘4)(2)[‘_-1J (.3_) o
@w w0 @fls

<€ 12 . ' ™ o

Ay 10 ' B) 15

© 12 ' D o
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99, If the length of a rectangle is doubled and the breadth is tnpled then which of the followmg
' is true? :

(A) Perimeter is multiplied by 5

(B) Perimeter is multiplied by % |

) Area is multiplied by —

M Area is multlphed by 6
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100. If a right circular cylinder and a right circular cone have the same radius and same height
then the ratio of volume of cylinder to. volume of cone is
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Read the following mstructions carefu.lly before you begin to answer the questions.

L

10.
11.

12.
13.

IMPORTANT INSTRUCTIONS '

The applicant mll be supphed with Question Booklet 15 minutes before commenoement of the
examingtion.

. This Question Booklet contains 100 queshons Prior to attempting to ‘answer the candxdates are

requested to check whether all the questions are there and ensure there are no blank- pages in the
question booklet. In case any defect in the Queshon Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet afber the commencement of exanmination 1t
will not be replaeed.

Answer all questions. All questtons carry equal marks.

You must write your Reglster Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet, :

‘An answer sheet will be supplied to you, separately by the Invigilator to mark the answers.

You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or
Black ink Ball point pen in the space provided on the gide 2 of the Answer Sheet. If you do not encode ,
properly or fail to encode the above mformatlon, action will be taken as per commission’s notification.
Each question compmes four responses (A), (B) (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet..In case you feel that there are more than one correct

- response, mark the response which you consider the beat. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles @ ® © and (D) against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, ® is
the correct anawer, you have to mark as follows : .

@.@@

* You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
'_thm Qnestlon Booklet and the Answer Sheet out. of the Exammaﬁon Hall dunng the exaxmnauon

The sheet before the last page of the Quesnon Booklet can be used for Rough Work

In all matters and in cases of doubt, the Englmh Vennon is final.
Do not tick-mark or mark the answers in the thwn Booklet.

Failure to comply with any of the above instructions will render you hable to such action or penalty as
the Commission may decide at their discretion.




